



분수 뺄셈 (고유 분수)(가분수)

이름: _____

날짜: _____ 점수: _____

$$\frac{5}{2} - \frac{7}{3} =$$

$$\frac{4}{3} - \frac{4}{5} =$$

$$\frac{7}{4} - \frac{6}{4} =$$

$$\frac{4}{5} - \frac{2}{4} =$$

$$\frac{7}{6} - \frac{1}{3} =$$

$$\frac{6}{4} - \frac{4}{6} =$$

$$\frac{5}{2} - \frac{3}{5} =$$

$$\frac{5}{3} - \frac{1}{9} =$$

$$\frac{4}{6} - \frac{1}{9} =$$

$$\frac{2}{3} - \frac{4}{9} =$$

$$\frac{4}{7} - \frac{4}{8} =$$

$$\frac{3}{5} - \frac{1}{6} =$$

$$\frac{4}{8} - \frac{4}{9} =$$

$$\frac{6}{9} - \frac{3}{8} =$$

$$\frac{5}{2} - \frac{5}{7} =$$

$$\frac{4}{9} - \frac{2}{6} =$$

$$\frac{5}{3} - \frac{5}{6} =$$

$$\frac{3}{2} - \frac{1}{8} =$$

$$\frac{4}{6} - \frac{1}{5} =$$

$$\frac{6}{7} - \frac{1}{5} =$$



분수 뺄셈 (고유 분수)(가분수)

이름: _____

날짜: _____ 점수: _____

$$\frac{5}{2} - \frac{7}{3} = \frac{1}{6}$$

$$\frac{4}{3} - \frac{4}{5} = \frac{8}{15}$$

$$\frac{7}{4} - \frac{6}{4} = \frac{1}{4}$$

$$\frac{4}{5} - \frac{2}{4} = \frac{3}{10}$$

$$\frac{7}{6} - \frac{1}{3} = \frac{5}{6}$$

$$\frac{6}{4} - \frac{4}{6} = \frac{5}{6}$$

$$\frac{5}{2} - \frac{3}{5} = \frac{19}{10} = 1\frac{9}{10}$$

$$\frac{5}{3} - \frac{1}{9} = \frac{14}{9} = 1\frac{5}{9}$$

$$\frac{4}{6} - \frac{1}{9} = \frac{5}{9}$$

$$\frac{2}{3} - \frac{4}{9} = \frac{2}{9}$$

$$\frac{4}{7} - \frac{4}{8} = \frac{1}{14}$$

$$\frac{3}{5} - \frac{1}{6} = \frac{13}{30}$$

$$\frac{4}{8} - \frac{4}{9} = \frac{1}{18}$$

$$\frac{6}{9} - \frac{3}{8} = \frac{7}{24}$$

$$\frac{5}{2} - \frac{5}{7} = \frac{25}{14} = 1\frac{11}{14}$$

$$\frac{4}{9} - \frac{2}{6} = \frac{1}{9}$$

$$\frac{5}{3} - \frac{5}{6} = \frac{5}{6}$$

$$\frac{3}{2} - \frac{1}{8} = \frac{11}{8} = 1\frac{3}{8}$$

$$\frac{4}{6} - \frac{1}{5} = \frac{7}{15}$$

$$\frac{6}{7} - \frac{1}{5} = \frac{23}{35}$$